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1 Explain the main difference between primary data and secondary 
data. 

प्राथमिक डटेा और द्वितीयक डटेा के बीच िुख्य अतंर स्पष्ट करें। 

2 

2 Explain the concept of grouped and ungrouped frequency 

distribution. 

सिहूीकृत और असिूहीकृत आितृ्तत वितरण की अिधारणा को 
सिझाइए। 

 

3 Explain the Ogives curves are drawn for any frequency distribution. 

Point out the method of finding out the values of (median, mode, 

quartiles, deciles and percentiles graphically. Also, write down the 

formula for the computation of each of them for any frequency 

distribution. 

सिझाइए कक ककसी भी आितृ्तत वितरण के मिए ऑगिव्स िक्र खींचे 
जाते हैं। ग्राक़िक रूप से (िात्ययका , िोड, चतुथथक, दशिांश और 
प्रततशतक  )के िाि  ात करिे की विगध बताइए। ककसी भी आितृ्तत 
वितरण के मिए उििें से प्रतयेक की िणिा के मिए सूत्र भी मिखखए। 

2 

4 Describe the different measures of central tendency of a frequency 

distribution, mentioning their merits and demerits. 

ककसी आितृ्तत वितरण की कें द्रीय प्रितृ्तत के विमभन्ि िापों का उिके 
िुण -दोकों का उएिेख करते हुए िणथि करें  

2 

5 Explain the main difference between mean deviation and standard 

deviation. Show that standard deviation is independent of change of 

origin and scale. 

िायय विचिि और िािक विचिि के बीच िुख्य अतंर स्पष्ट करें। 
ददखाएँ कक िािक विचिि िूि और पैिािे के पररितथि से स्ितंत्र 
है। 

2 

6  Describe moments. Establish the relationship between the moments 

about mean, i.e. Central Moments in terms of moments about any 

arbitrary point. 

आघूणथ का िणथि करें  .िायय के आघूणथ के बीच संबंध स्थावपत करें। 
 

2 
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1. The following table shows the distribution of 100 families according 

to their expenditure per week. Number of families corresponding to 

expenditure Groups Rs. (10-20) and Rs (30-40) are missing from the 

table. The median and mode are given to be RS.25 and 24. Calculate 

the missing frequencies and then arithmetic mean of the data 

Expenditure :             0-10    10-20    20-30     30-40      40--50 

No. of /families:           14          ?            27           ?               15 

तिम्िमिखखत तामिका प्रतत सप्ताह उिके खचथ के अिुसार 011 
पररिारों का वितरण दशाथती है। व्यय सिूहों के अिुरूप पररिारों की 

संख्या स .टेबि से ( 10-20  )और सपये ( 30-40  )िायब हैं। िात्ययका 
और िोड स.  52 और स.  52 ददए िए हैं, िुप्त आितृ्ततयों और किर 
डटेा के अकंिखणतीय िायय की िणिा करें  
व्यय  :                      1- 01      01- 51       51- 01      01- 21       21—21  

पररिारों की संख्या :    02            ?               52               ?               02 

6 

2. Explain the methods of measuring Skewness and kurtosis' of a 

frequency Distribution. 

ककसी आितृ्तत की ततरछापि और कुटोमसस िापिे की वितरण 

विगधयाँ सिझाइए 

6 
 

3. Goals scored by two teams A and B in a 'football season were as  

follows: 

No of goals Scored in a 

match 

                        No. of Matches 

A B 

0 27 17 

1 9 9 

2 8 6 

3 5 5 

4 4 3 

Find out which team is more consistent. 

िुटबॉि सीज़ि िें दो टीिों ए और बी द्िारा बिाए िए िोि इस 
प्रकार थे 

एक िैच िें बिाए िए 
िोिों की संख्या 

                           िैचों की संख्या 
A B 

0 27 17 

1 9 9 

2 8 6 

3 5 5 

4 4 3 

पता ििाएं कक कौि सी टीि अगधक सुसंित है 
 

6 
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1 Describe conditional probability and give its frequency interpretation. 

Show that conditional probabilities satisfy the axioms of probability. 

सशतथ संभाव्यता का िणथि करें और इसकी आितृ्तत व्याख्या दें। ददखाएँ कक 

सशतथ संभाििाएँ संभाव्यता के मसद्ांतों को संतुष्ट करती हैं 

2 

2 State and Prove Baye's Theorem.   

बेयस प्रिेय को बताएं और मसद् करें। 
2 

3 Show that Poission distribution is a limiting case of binomial distribution.  

ददखाएँ कक पॉत्ज़यि वितरण द्विपद वितरण का एक सीमित िाििा है। 
2 

4 Describe negative binomial distribution. Give an example in which it 

occurs: Obtain its moment generating function. Hence or otherwise obtain 

its mean, variance and third central moment.  

ऋणातिक द्विपद बंटि का िणथि करें। एक उदाहरण दीत्जए त्जसिें यह 
घदटत होता है  :इसका रण उतपन्ि करिे िािा कायथ प्राप्त करें। अत :या 
अन्यथा इसका िायय, विचरण और तीसरा कें द्रीय रण प्राप्त करें  

2 

5 Describe Continuous Probability density function. 

सतत सभंाव्यता घिति ़ंिक्शि का िणथि करें 
2 

6  Let     ,    ,….,      be a random sample from a distribution with 

density function 

     
 

 
 

  

                                             

Calculate the mean and variance of the given distribution. Also show that 

       
 

 
   

 
    is unbiased for  . 

िाि िीत्जए   ,   ,….,   घिति ़ंिक्शि िािे वितरण से एक यादृत्छछक 
ििूिा है 

     
 

 
 

  

                                              

ददए िए वितरण के िायय और प्रसरण की िणिा करें। िो भी ददखाओ 

      
 

 
   

 
    is unbiased for  . 
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1. If a random variable X follows the Poisson distribution such that P(X=1)= 

P(X =2), find 

i) the first moment about mean of the distribution, 

6 



ii) P(X =0), 

iii) Variance of the distribution.  

यदद एक यादृत्छछक चर X पॉइसि वितरण का अिुसरण करता है जैसे 
कक             P(X= 0 =) P(X = 5) , खोजें 
(1)वितरण के िायय के बारे िें पहिा आघूणथ 
 (2)पी (एक्स =1) , 

(3) वितरण का विचरण 

2. A factory produces certain type of product by 3 machines. The respective 

daily production figures are: 

Machine X: 400 units 

Machine Y: 350 units 

Machine Z: 250 units 

Past experience show that 5% of products produced by machine X, 2% by 

Machine Y and 4% by machine Z are defective. A product is drawn at 

random. What is the probability that it has been produced by machine Y, 

if the drawn item is found to be defective. 

एक िैक्री 3 िशीिों द्िारा एक तित्चचत प्रकार का उतपाद तैयार करती 
है। संबंगधत दैतिक उतपादि आंकड ेहैं: 
िशीि एक्स: 400 इकाइया ँ
िशीि Y: 350 इकाइया ँ
िशीि Z: 250 इकाइया ँ
वपछिे अिुभि से पता चिता है कक िशीि X द्िारा उतपाददत 5% , 

िशीि Y द्िारा 2% और िशीि Z द्िारा 4% उतपाद दोकपूणथ हैं। एक 
उतपाद यादृत्छछक रूप से तिकािा जाता है। यदद तिकािी िई िस्तु 
दोकपूणथ पाई जाती है, तो इसकी क्या प्रातयकता है कक इसे िशीि Y द्िारा 
तिमिथत ककया िया है 

6 

 

3. Let X be a discrete random variable having geometric distribution with 

parameter p. Obtain its mean and variance. Also, show that for any  two 

positive integer S and t 

                      

िाि िीत्जए कक X एक असतत यादृत्छछक चर है त्जसका परैािीटर p के साथ 

ज्यामितीय वितरण है। इसका िायय और प्रसरण प्राप्त करें। यह भी ददखाएँ कक ककन्ही ं
दो धिातिक पणूाांकों S और t के मिए 

                      

6 

 

 


